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1.You deleted billions of records from several tables in the SAP HANA database. However, the file system
for the data volumes did not gain any free space.

What is the reason?

A. You did not execute a full backup and restore to reduce the size of the data volumes.

B. You did not execute the ALTER SYSTEM RECLAIM LOG.

C. SAP HANA keeps the space for later reuse.

D. SAP HANA did not trigger a delta merge yet.

Answer: C

2.After you install an SAP HANA database, you want to ensure that it is automatically started when the
host is rebooted.

Which of the following parameter settings allows you to do this?

A. Autostart to "Enable" in the profile file
/usr/sap/<SAPSID>/SYS/profile/<SID>_HDB<Instance_No> <host_name>

B. Autostart to "TRUE" in the profile file /usr/sap/<SAPSID>/SYS/profile/DEFAULT.PFL

C. Autostart to "Yes" in the profile file /usr/sap/<SAPSID>/SYS/profile/DEFAULT.PFL

D. Autostart to "1" in the profile file
/usr/sap/<SAPSID>/SYS/profile/<SID>_HDB<Instance_No> <host_name>

Answer: D

3.You need to replicate data from an SAP ERP production system to SAP HANA.

Where does SAP recommend that you install the productive SAP Landscape Transformation (SLT)
instance?

A. With the SAP Solution Manager system

B. On the SAP HANA server

C. On a dedicated server

D. With the SAP ERP system

Answer: C

4 Which technologies use trigger-based replication? (Choose two)
A. Test Data Migration Server (TDMS)

B. ABAP extractors

C. TREX engine

D. Near Zero Downtime

E. Standard SQL database replication

Answer: A,D

5.You have to create an SAP HANA architecture that meets the following requirements:
- Data provisioning is performed in batch mode

- Data transformation is performed during the load step,

- Reporting is run using analytic data models.

Which of the following scenarios would you implement?

A. An operational data mart

B. SAP HANA as application platform
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C. An SAP HANA accelerator
D. An agile data mart
Answer: D
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